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Time: 1 hour
Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

4. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

5. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

6. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

7. Diagrams in this question booklet are not necessarily drawn to scale.
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1)  The general term 7% of a sequence is (n=D(n=2) . Find the 9" term in the [3%]
(n+1)(n+2)
sequence. Express the answer in its simplest fraction.
N _1 _2 AW Jpn A N e AR
—MagzimER L2 L g o 8 - WLURATS B
(n+1)(n+2)

;_‘ﬁ':\-: o

2) Expand (x-5)(x*—1)(x+5) in descending order. [3.1%)]

JEEBH (x—5)(x* —1)(x+5) > WLIFEEADES
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) . 2022 S [3.2%]
3 Simplify === to its simplest form.
) plify 5779 p
e 2022 oo,
Unis 5729 ESSsdilipay it
4) It is known that P is 0.4 times of O, how many times is Q of P? [3.3%]

BRI PE QY04 HVEQ R PHIZ/DME?
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5) Itis known that 4x“" +2y“” —z““ =8 1is a linear equation with three [3.4%]
unknowns. Find the value of 5.
CRI4x"" +2y°" =2 =8 E=JT—RIHE » K b HYH -

6) Find the sum of all positive factors of 2022. [3.5%]
°K 2022 HYFTA IERECZ A -
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7)  In the figure, AABC is a right-angled triangle and DB = DC. Find the value of x. [3.6%]
& HAABC S —EE A=A - ifi DB=DC - K x HY{H -

A
o D
X
67°
B C
8) Find the perimeter of the parallelogram ABCD. [3.7%]
SKIPATIUER ABCD B F -
y
A
A(-4,2) B(6, 2)

£ /.
£ /

C(-7,-2) D(3,-2)
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9)  Find the value of 2.022+1.23 and show your answer in recurring decimals. [4.8%]

K 2.020+1.23 W9 - AWLINEE NS -

10) The ratio of the exterior angles of a convex nonagonis 1:2:3:4:5:6:7:8:9.If  [4.9%]

the largest interior angle of the nonagon is x°, find the value of x.
—{E N UE R AR R1:2:3:4:5:6:7:8:9 « MR IUE B RHIAN A
& x RxHJE -
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11) Find the H.C.F. of 2022 and 211. [5.1%]
Sk 2022 F1 211 B R AREL -

12) In a monomial a?h, the value of a decreased by 20% and the value of b increased ~ [5.2%]

by 40%. If the percentage of the new value of the monomial to its original value

1s x%, find the value of x.
EEIER o’b > a BHERCD T 20% > T b BIEIE T T 40% » 405 BT
HIFTERRENE D Z x » SKx HYE -
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13) Find the units digit of 3% 48, [6.3%]
j‘z 32022 + 82022 E]/‘j { 'ﬁl {E o

6.4%
14) Find the value of l—L+L—L+.“+#. [6.4%]
4 16 64 256 16384
.1 1 1 1 1
K ———t———+...+ A -
K 4 16 64 256 16384 1
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15) Find the value of 4°+8°+12° +...+36". [6.5%]
KA +8+12°+...+36° AYH -

16) What is the remainder when the 2020-digit number 20222022...2022 is divided [6.6%]
by 7?
& 2020 fir#; 20222022...2022 L. 7 B > gREEZ%/D ?
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17) Itis given that a, b are two positive integers and a*> — b*> = 839. Find the value of b. [0.7%]
Tl a, b B IFERESL > H o —b*=839 - Kb IV(H -

18) If an arithmetic sequence has at least three terms, the first term must be 1 and the ~ [6.8%]

last term must be 2022, and all terms are integers. Find the sum of all terms of all

the sequences that fits the above requirements.
HFEBYRVAE 3HE HHELR 1 RIELF 2022 0 AT IEE R
B o SKFTE TSR ES B TIRTZ A
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19) Find the value of /4190209 . [6.9%]
3R 4190209 FY{E o

0
20) Simplify 19687 to its simplest form. [77%]
4080553

919687 oy e

== E[/\ °
mis 7080553 ESSSdinpay
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ANSWER SHEET

REG NO

NAME

GROUP
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1 % o™ 1 O
2 x* —26x% + 25 |p|» 89.6 o
3 1% o® 3 O
’ 2:5 O~ 136237874 O
. /05 fgls 129600 |5
6 4056 |l 6 o
7 46 o 419 o
8 30 ol 2138311 |4
o 3.254345 |5 2047 "
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